
OBJ: To have a better 
understanding of how numeracy is 
taught at Granby Primary school. 
 
  





We use the strategy called: 

 

Counting Up 

You need to think about:  

What number shall I start with on my 
number line? 

What number do we want to count up by?  

Are there any number bonds that can help 
me? 



25 + 47 = 
Use the counting up method!!  

So we start at the biggest numberé47 

And count up 25 places 
What number do we end on???  

Soé. 

25 + 47 = 72 

47 

+20 

67 

+3 

70 72 

+2 



35 + 87 = 
Use the counting up method!!  

So we start at the biggest numberé87 

And count up 35 places 
What number do we end on???  

Soé. 

35 + 87 = 122 

87 

+30 

117 

+3 

120 122  

+2 

Your turn....  



I have £7587 in my savings account. I get 

five numbers in the National Lotto game 

and win £5675. How much money do I 

have now? 

                          7587  
              + 5675  

2 

1 

 

6 

1 

2 

1 

13 



Mr Hale has £8697 in his savings 

account. He gets five numbers in the 

National Lotto game and win £4856. How 

much money do I have now? 

                          8697  
              + 4856  

3 

1 

 

5 

1 

5 

1 

13 



I have £34.56 in my savings account. I 

get three numbers in the National Lotto 

game and win £48.61. How much money 

do I have now? 

                          34.56  
              + 48.61 

7 .
1 

1 3 

1 

8 



Monster 

munching! 



Monster has 6 ice creams.  

Hippo eats 3.  

   6  -  3  = 3 



Can I use the counting up 

strategy for Subtraction too? 

Have a look at this question! 

 

43 ï 27 =  

What number shall I start from on my number line?  

27 

What number shall count on by?  
Can any number bond make counting on easier for me?  

37 

+10 
+3 +3 

40 43 

10 + 3 + 3 = 16 

16 

What number do I want to get to?  

YES 



Your turn 

Have a look at this question! 

 

89 ï 54 =  

What number shall I start from on my number line?  

54 84 

+10 

+1 +4 

85 89 

10 + 20 + 1 + 4 = 35 

35 

What number do I want to get to?  

YES 

                 +20 

64 



Mrs Urban has £7574 in her savings 
account. She buys a new car which costs 
£5675. How much money does she has 
left in her savings account?  

                 7574  
              - 5675  

4 take away 5, can we do it?  
No, so we need to borrow  
14 take away 5 is 9  
6 take away 7, can we do it?  
No, so we need to borrow  
16 take away 7 is 9  
4 take away 6, can we do it?  
No, so we need to borrow  
14 take away 6 is 8  
 6 take away 5, can we do it?  
Yes 6 take away 5 is 1  
 
 
 
 
 

Answer is 1899  



Can you answer this? 
 
 
 
 



Can you answer this? 
 
 
 
 




